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Instructions: Undergraduate students work 5 of the following 7
problems; graduate students work 6 of the following 7 problems.

1. Solve the first order partial differential equation

Uy -+ 22Uy = COSY
ufz,0) = cos3z.
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2. Solve the first order partial differential equation

{ g + (@ + Ly =0
u(0,y) = y*.
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3. Solve the second order partial differential equation

u(0, y)
u(l,y) =
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4. Solve the second order partial differential equation

wp= Ay + e teos
ux{0,%) =0
uy(2,1) =0
. ul{z, 0) = 0.
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5. Solve the second order partial differential equation
Upt = Upr
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6. Find the Green’s function for
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7. Find the Green’s function for

u' — 2u + By = f
u{d) =0
u{l) =0
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